Installation Instructions

Evolution® Fiber Segregation Kit

Intended Use
The Fiber Segregation Kit creates a separate pathway for fiber
cables and patch cords inside Evolutionk Vertical Cable Managers. Single-Sided

7/

==

V=

7/

/7

(<

7,

7,

Parts Included
Fiber Segregation Kit Assembly, 3 ea.

777

=
e

M5x12 Taptite Screws, 6 ea. - j
Y 6 R 0 | [N

. 1 ' L§ ‘ §

Tools Required < ,\ |§5
#3 Phillips Screw Driver Accessory panel \ &{! P§} ‘afl N

mounting holes

7/

T

Installation

1. The number of Fiber Segregation kit assemblies that can be mounted
in an EvolutionE cable manager depends on the manager height as
follows:

i

Y

/)

T V7 ¥ i Vi Vi ¥ g V-
o

7,

7' =3 . q
g =3 LU [ ;§ ‘N
9" =4 (Requires an additional Accessory Panel) (6 L§JJ' :\:
2. Mount each assembly using two M5x12 screws at locations shown </ =" :.:\J F
N || |0
on page 2. [\\§1 i || B
N 5

1/

3. Insert the M5x12 screws through the slots in the Fiber Segregation
bracket closest to the indexing spool as shown in Figure 1.

4. Attach the assembly using the mounting holes in the Accessory
Panel as shown in Figure 1.

7

Wi

777

===

o

7

7

——

227777

\

Q

4

]

M5x12 Screw

Use this column
of slots for mounting Figure 1

[1S-733475-001, 8/21/23, Rev. 1, CPI/BDK
800-834-4969 (USA & Canada) A www.chatsworth.com A techsupport@chatsworth.com
[: H AT S W U RT H P H [] D U CTS For international phone numbers, see our website or contact CPI Tech Support.

This drawing contains proprietary and confidential information and is protected by U.S. and international law. Unauthorized reproduction, disclosure or use of the drawing or
the information therein is expressly forbidden except as agreed to in writing by Chatsworth Products, Inc.

Page 1 of 2



Installation Instructions

Single-Sided

Spool can be
rotated 360° with
stops at 90°

Each Fiber Segregation
kit mounts to a single
accessory panel

with two screws

|

Each Fiber Segregation=—

kit mounts to a single I
accessory panel

with two screws

Slots can be used
for cable strapping

Additional accessory ~ ~—
panel mounted at bottom N

7'&8
Cable Managers

9' Cable Manager

Page 2 of 2





